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Worked Examples

* Qutside money and the Price Level

2 Currencies, Exchange Rates, and the Price Levels
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Outside Money and the Price Level:

 Example 1:
- /=1
e n = 4

e w = (w1,ws,ws,ws) = (20,15,10,5)

* T = (7-177-277-377-4) — (17 ]-7 ]-7 _]-)
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Outside Money and the Price Level:

* ExXample 1, Continued:

* T = (7-177-277-377-4) — (17 ]-7 ]-7 _]-)

. Z’Th =20

+ Not balanced

P = {0}

- x = (x1, T2, x3,x4) = (20,15,10,5)

e Autarky
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Example 2

*As before, but = = (5,2, -2, —5)

CZ’Th:O

* Balanced

o 21 =20—5P" >0 = P" <4 jl> Therefore 15
15 e V< P" <4 < —

o1, =15 —2P" >0 = P" < — — < <2
2 * P €10,4)

o r3 — 10+ 2P™
ey, =5H+5HP™
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Example 2, Continued

-As P =0,4)
e {(z1,22,23,24)|z1 =20 —5P™, 35 =15 —2P™,
z5 =10+ 2P™, x4 =5+ 5P™, P™ € [0,4)}

 r = (x1,x2,3,24) NOt independent
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* In general, for / = 1, we have

| |
| |
0 pm
* For balanced polic_ies, we have
"P™ e [0, P™)
- P™ >0

Pm
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Quantity Theory of Money (QTM)

Let 7/ = 2+ as from Example 2
e 7' =2(5,2,-2,—5) = (10,4, —4, —10)
e 11 =20—10P" >0 = P™ <2

15
0$2:15—4Pm>0 — Pm<z
15
-0<P””<2<Z

e P €0,2)

« P =2
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QTM Continued

P™ €10,2), P =0,2)
* This is a statement about sets, not price levels

* |If everyone believes QTM, then QTM is REE

* |If not, not
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Take-Away

* Indeterminacy of the price level

* Beliefs about PP'"*and fundamentals w jointly determine
outcomes

e Beliefs matter

* The quantity theory of money is (too) subtle. Doubling 7 will
affect P but not necessarily according to QTM.
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Two Currencies, R and B:

* Bi-metalism in the US
* “Cross of Gold” speech

* Borrowers hurt by deflation
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Two Currencies, R and B:
* /=1, n=5, w=(25,20,15,10,5)
. 7P =(1,1,1,-1,-1), 7% =(1,1,-1,—-1,-1)

-Z’rf:l, ZTf:—l
°PBZT,{3—I—PRZT}?:O

PP —pPf=0 = P%=p"
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Two Currencies, R and B:
25

ez =25—PF —pit—95_92PF > :>PB<?

e 1o =20— P8 — PR = PP <10

e 13 =15 — PB4+ P =15

25
'0§PB<10<5
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o« P — {PB,PR‘PB _ PR, PB c [O, 10)}

A(z1, x2, T3, T4, x5)|T1 = 25 — 2PB, 29 = 20 — 2PB,
T3 =15, x4 = 10 + 2P"}
rs =5+ 2P%, PP c[0,10)}

* The elements of x are not independent. They are constrained by P"".
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In General

B R
o |f ZTh and ZTh agree in sign, then p” = p'* = 0.

o |f Z 2 and Z i disagree in sign, then either the
exchange rate is
PPy

PR

'OFPB:PR:O
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* Why?

B
. If B _ R _ () then £ _ isindeterminate.
Z'rh Z'rh en o7 is indeterminate
* Why?



